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Group-A
(Multiple Choice Type Question) 1x15=15
1. Choose the correct alternative from the following :
() Choose out of the following, which one is not a source of electrical energy?
a) Solar cell b) Battery
d) Generator

c) Potentiometer
(i) Write, when a silicon diode is forward biased, what is VBE for a C-E configuration.

a) voltage-divider bias b) 0.4V
d) emitter voltage

c) 0.7V
(iii) Recall, what will be the reverse saturation current in the junction when the voltage across

the junction is O.
a) 0.3A b) 0.7A
c) OA d) 1.24A
(iv) Label the right option: Ripple factor of a half wave rectifier is
a) 1.414 b) 1.21
c)1.4 d) 0.48
(v) Write, in an NPN transistor, the arrow is pointed towards
a) the collector b) the base
d) the emitter

c) depends on the configuration

(vi) Determine, which of the following are true for a PNP transistor.
b) the collector current is less than the emitter

a) the emitter current is less than the collector
current

current
¢) the collector current is less than the emitter  d) the holes are the minority charge carriers



(vii) Determine, which type of amplifiers exhibit the current gain approximately equal to unity

without any current amplification.

b) CC
CE
~ i; cB d) None of the above ]
3 (viii) Select the number of valence shell electrons of an intrinsic semiconductor material:
"; ajqAmElL b) 2
= ¢tianogy gl &6 wnis) 8 d)6
S SS(RPNaERY ARG SHE of the following is variable loss
. ‘!é a) core loss b} copper loss
) @ ¢) both d) none
: a (x) Estimate the total emitter current.
a) IE-IC b) IC + IE
c)IB+IC d) IB=IC
(xi) Select the name of the elements of electrical engineering cannot be analyzed using ohm's
law?
a) Resistor b) capacitor
¢) transistor d) inductor
(xii) Tell that KVL deals with the conservation of
a) Mass b) Energy
¢) Momentum d) Charge
(xiii) Select which of the following is the unit of magnetic flux density?
a) Weber b) Tesla
c) ohm d) ampere
(xiv) Calculate the value of flux when the value of flux density 0.5wb/sqm and cross sectional
area is 2sqm.
a) 1 weber b) 0.25 weber
c) 0.52 Weber d) 1.8 weber
(xv) Identify the unit of resistance is
a) Mho b) Ohm
c) Farad d) Henry
Group-B

(Short Answer Type Questions)

2. State Ohm's law and its limitation.

3. Evaluate the average value for a rectified full wave.
4.
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Calculate the current through the system if we attach a 5 ohm resistor from point A to B.
ohm, R,=2 ohm
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3 x5=15

(3)
(3)
(3)

R1=3



(3)

5. Explain the input output characteristics of CB connection _ 3)
6. lllustrate the current voltage relationship for a p-n junction diode with proper curve.
OR
(3)

Describe common emitter transistor configuration with input characteristics curve.

Group-C o3i
(Long Answer Type Questions) 5x 6=

(5)

7. Explain the center-tap Full wave rectifier with a neat diagram
8. Explain the working of a photodiode. (5)
9. Ina CB connection, current amplification factor is 0.09. If the emitter current is 1mA, (5)
determine the value of base current.
pf 0.018 web . Calculate (5)

10. A 6 pole lap wound armature has 840 conductors and flux per pole

the emf generated when the machine is running at 600 rpm. YA e
11. Explain the emf equation of a dc machine. fay .{,‘-,,',"'”*"(5.;)
12. An ac circuit consist of resistance of 10 Q and inductive reactance of 30 ohm arg_connect’ed-({i“-‘(ﬁ)f.;‘?!’
across an ac supply of 230V, 50hz. Evaluate current. R 257640
OR )
Evaluate The value I1 for series RL circuit. (5)
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